restart

—Sl{ +2l1

Ecuacion :=-3-y(X) - (3)+2 y(x) -diff (y(x),x) =0

4/3 d

Ecuacion := -3 y(x)

Sol := dsolve( Ecuacion)

Sol ::y(x)2/3—x—_C1:O

Solucion := |hs(Sol) + (x+ _C1) =rhs(Sol) + (x+ _C1)
Solucion::y(x)2/3—x+ C1

Soluciongeneral := lhs(Solucion) - -3 =rhs(Solucion) - -3

Soluciongeneral ;= y(x)2 =(xX+ _Cl)3

restart

313. (xy' + y)y=yy",

Ecuacion := (x-y'+vy)--2=y--2y'
2

Ecuacion := (x (% y(x)) +y(x)) =y(x)? (

Sol := dsolve( Ecuacion) : Sol,
y(X) =4x

Comprobacion, := simplify( eval(subs(y(x) = rhs( Sol 1), Ilhs(Ecuacion) — rhs(Ecuacion)

=0)))
Comprobacion, :=0=0
SolGral == y(X) - (C1 — x) =C, -2
SolGral ;= y(x) (Cl — x) =C;
SolPart := subs( C,=1,SlGral )
SolPart:=y(x) (1—x) =1
Parametro := solve(rhs( Soll) =rhs(SolGral), Cl)
Parametro:= 2/ x, -2 x
ParametroDos := solve(rhs( SolPart) =rhs(SolGral ), Cl)
ParametroDos:= -1, 1
restart

+2y(x) (& y(x)

y(C — x)=C"

)

)
©)

(4)

®)

(6)

()

)
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2xy

e
149. y' = T

1 o .;1 y
S 2:xy
Ecuacion := y'= 3x2—y 2
. d __ 2xy(X)
Ecuacion ;= ™ y(X) —3x2—y(x)2

with(DEtools) :
odeadvisor (Ecuacion)
[ [_homogeneous class A], _rational, dAlembert]

simplify(expand(intfactor (Ecuacion) ) )
-3x + y(x)2
y(x) (- +y(0?)

EcuaVar Sep := simplify(isolate( eval (subs(y(x) =V(X) -X, Ecuacion) ), diff (v(x), X)) )

2
EcuaVarSepi= g V() = - V(xxi ( 3 ]:\r/(i());)) )
1 1
P := -, =
e
(-3+V)
P:= 1
X
—__"34+V
° v(-1+V)

(
Solucion := int(P, X) =int(Q, v) + Iog(Cl)
Solucion:=In(x) =In(v+1) +In(v—1) —3 In(v) + In(Cl)

SolucionGeneral := expand(isolate(subs(v: % Solucion), Cl) )

SolucionGeneral ;= C, = - (X—=Yy) (X+Y)

restart
Ecuacion :==-2-X-y + (3:X--2 —y--2)-y'=0

Ecuacion := -2 xy(x) + (3¢ —y(x)?) (% y(x)) =0

Factint :=
y(x)--4

Factint ;= 2

y(X)
EcuacionExacta := |hs(Ecuacion) -Factint =0
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EcuacionExacta := =0

> with(DEtools) :

> odeadvisor (EcuacionExacta)
[ [_homogeneous classA], _exact, rational, dAlembert]

Comprobacion:=0=0

22Xy . (3X2—y-2)
M:= —%
N := —3)(24_)/2
_ y
> IntMx := int(M, x)
IntMx .= —g
=> SolucionGeneral := IntMx + int( (N — diff (IntMx, y) ), y) =C;
SolucionGeneral ;= —é + % =C,
> SolDos:=C, = - y3
L (x—y) (x+y) ;
SolDos:=C, = -
i Lo(x—y) (x+y)
. . 1 _
> SolucionGeneralDos := Ths(SolDos) (S0IDos) C,
SolucionGeneralDos ;= - (x—y)y3(x+y) =C,
=> Comprobacion := simplify(Ihs(SolucionGeneral) — |hs(SolucionGeneralDos) ) =0
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